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1.
a.

Attempt anv three of the
The following table gives
height of the students.

N. B.: (1)

Q)
(3)
(4)
(s)
(6)

During one year
during the

i.
ii.

following:
the l5

b.
3.00, whereas

period.
to milk prices for the 2-

mean for averaging ratios.
for averaging ratios

:-5, X3 : 4, X+ : -8 and yr :-3,

rv.\x2, ,.f rx - y)(x + y)

lll

c.

grade ofa group of 150 students was 78 and
however, the mean final ofthe group wasgrade

In which subject was there the greater (i) absolute

standard deviation.

the mean arid standard deviation of scores were found to
scores 43 and 35 were
and standard deviation
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Later on, it was discovered that the
respective ly. Find the corrected mean

figures.
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2. Atternpt any three of the following:
a. Find the (i) first, (ii) second, (iii) third and (iv) fourth

2,3,7,8, lA.

b. In a frequency distributionl the co-efficient of skewness
the sum of the upper and lower quartiles is 100 and
upper and the lower quartiles.

ln a survey of 500 adults were asked the
(2) Do you own an ipod, and (3) Do you have

survsy wers as follows (no one answered no

c

d.

cell phone 329
ipod 186

cell phone and
cell phone and

internet connection 295 ipod and
(i) answered yes to all three parts, (
(iii) had an ipod but not a cell
(v) had a cell phone or an internet
not an ipod or an internet

One bag contains 4 white
balls. If one ball is
(ii) both are black, and

e. Assume thatthe
mean 68.0 inches
each are
sampling
(ii) without

f. Five
of 0.30
group

5 black
are white,

distributed with
of25 students

ofthe resulting
replacement and

and a standard deviation
bearings chosen from this

500 g and (ii) more than 510 g.

that the standard deviation is 0.05
must he take in order to be (i) 95% and

will not exceed 0.01 s?

(g) with a probable error of 0.272 g.What

random from all voters in a given distriot indicated
particular candidate. Find the (a) 95%o, (b) 99Yo, and
proportion of all the voters in favor of this candidate.

and Level of Significance.

produced by a manufacturer have a mean of 1800 pounds

of 100 lb. By a new technique in the manufacturing process,
strength can be increased. To test this claim, a sample of 50

is found that the mean breaking strength is 1850 lb. Can we support

15

2

significance level?
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a

f. Two groups, A and B, consist of I 00 people each who have agroup A but not to group B (which is called the control);treated identically. It is found that in groups A and B, 75recover from the disease. At significance levels of (a) 0.0hypothesis that the serum helps cure the disease.p-value>O.0 1, p-value4\>0.0s, but p-value<0.10.

4.
a. fttelnt qnv three of the foilowing:

A random sample of l0 boys had th-e

Do these data support,r]J;*,?;il,"t"
range in which most ofthe *"u lq-

b. Pumpkins were growrr undertwo
9 pumpkins show the sample
respectively. Assuming that the
the true varlances are equal.

following
101, gg,

ofa

level.

a school of

of the standard

claims that30ya ofthe cards
are veteran All_Stars.

of

each the

hypothesis
are equally

that
[Assume that p (Fro,r >

The standard deviation
I 000
rnale students is 2.40
deviation for all

d. Calculate the

3.3s)

c.

are

3

20
ri:.
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3 2 1 0
2 J 4 5
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a.

Attempt unv thregof the following:
Fit an curve of the form I : e.bx to the

b. The weights of a calf taken at weekly intervals are
the method of least and calculate the

c. Fit a to the

Find the coefficient of linear
below:

e, In a pafiially destroyed
results only are
Variance ofX:9,
Find (i) Mean
(iii) the

f. Find the

d.
e.r

-2

the followlng

t4
between X and Y,

ti:..
,,i

4

J I 2 J 4 5 .rii:

Y 1.0 1.2 i.8 ,< 3.6

Aee (X) 1 2 J 4 5 .l

Weieht (Y) 52.5 58.7 65.0 70.2 754

x 1 2 aJ

Y 2 6 7:

X I
Y 1#

'1;.li 69 7A 72

ltz 69 7T
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